HekoTopbie 60/1€e C/I0XKHbIE TPUMEPbI A CAPY3bAMMU Ha an l'35pe

| - gar -

PaznioxuTe Ha MHOXXUTEIN

4)(**) x"3 + y~"3 + z~3 — 3xyz = ...

a"3+b”"3 = (a+b)(a*2-ab+b"2)
a’3-b"3=(a-b)(a*2+ab+b"2)
ar3+3a’2b+3ab”2+b*3=(a+b)*3
a’3-3a’2b+3ab”2-b*3=(a-b)"3

X3 + yN3 + z~3 — 3xyz

(X+Yy)(XN2-xy+y~N2) + z(zN2-3xy)

XA3 + yN3 + zN3 — 3xyz = XN 3+3XN2y+3XYyN2+y N3 +zN3-3Xyz-3XN2y-3Xy N2 =

=(X+y)N3 + zN3-3xyz-3xN2y-3xyN2 = (X+y+2z2)((X+y)N2-(Xx+y)z+z"N2) -3xy(z+x+y)

=(X+y+2z) ( (X+y)N2-(X+Yy)z+zN2) -3xy ) = (X+y+2)(X 2 + 2Xy + yN2-Xz-yz+z"2 - 3xy)=
= (X+y+2z) (X2 + yN24+2z"N2-XZ-yzZ -XY)

X"3 + yN3 + z"3 — 3xyz =(X+y+z) (X2 + yN2+z72-Xz-yz -XY)

(X+y)N3 + 273 = (X+y+2)((X+y)N2-(x+y)z+2z"2)



